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Kindergarten

-8 penguins are playing on an
iceberg. 1 jumps in the water to eats 5 candy canes at lunch
swim. How many penguins are B + — d 3 more after dinner. How
D . still playing on the iceberg? iﬁ or i ny candy canes did Vic eat
: : M NAmm T all together?
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DIRECTIONS £
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* Read the word problem.
Y Use the pictures, ten frame,
or numper line fo nelp you
solve.
Y  Whrite the answer in the
green box.
2 2 2 2 2 2 2 2 22 22 2




brother Lincoln bulilds 2
showmen. How many showmen
do they have together?




There are 8 reindeers out in the

field playing. Two of the reindeer
went inside the barn. How many
reindeers are still in the field?




* A ftree farm has 7 Christmas
frees for sdle on Saturday. They
sell 3 trees. How many trees do
they sfill have for sale?




) Mason catches 5 snowflakes on his

tongue. Julia catches U showflakes
on her tongue. How many
snowflakes did they catch dll
together?




- Gus brings 10 top hats fo the
park. He gives U away to his
friends for their snowmen. How .!..!.

. many hats does Gus have how? _!__!_




-Tuesday there are 3 presents
under the tree. Shawn adds 6

more Wednesday. How many
presents are there now?




ic eats 5 candy canes at lunch
dnd 3 more dfter dinner. How

many candy canes did Vic eat
all together?



iceberg. 1 jumps in the water to
swim. How many penguins dre
still playing on the iceberg?




* At a holiday party Mr. Smith set out
6 cups of hot cocoa. During the

party 5 of the cups were drank. How
many cups of hot cocoa are left?




. "Ryan has 2 padirs of ice skates.
He buys U4 more pairs. How
many pdirs of ice skates does
he have now?
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